
 

 

                               gFjp – m                   𝟓 𝑿 𝟏 = 𝟓 

I. midj;J tpdhf;fSf;Fk; tpilasp : 
 

1. 𝑥3 + 64 -d; XU ér;rpakhf;fp        (1) 4i         (2) 4       (3)  -4          (4)  0 

2.  sin−1(𝑐𝑜𝑠𝑥) , 0≤ 𝑥 ≤ 𝜋 –d; kjpg;G    (1) 𝜋 − 𝑥 (2) 𝑥 −
𝜋

2
  (3) 

𝜋

2
− 𝑥  (4) 𝑥 − 𝜋  

3. 𝑥 − y; n gbAs;s xU gy;YWg;Gf;Nfhitr; rkd;ghL ngw;Ws;s %yq;fs; 

  (1) n ntt;NtW %yq;fs;                   (2)  n nka;naz; %yq;fs;  

  (3) n  fyg;ngz; %yq;fs;                  (4) mjpfgl;rk; xU %yk  

4. sin−1 𝑥 = 2 sin−1 𝛼 - f;F xU jPu;T ,Ue;jhy; > gpd;du; 

  (1)  𝛼 ≤
1

 2
    (2)  𝛼 ≥

1

 2
      (3)  𝛼 <

1

 2
     (4)  𝛼 >

1

 2
 

5. 𝑥 =
1

5
  vdpy;>cos(cos−1 𝑥 + 2sin−1 𝑥) -d; kjpg;G    (1) − 

24

25
  (2)   

24

25
   (3)  

1

5
  (4) −

1

5
 

                               gFjp -M                 𝟓𝑿 𝟐 = 𝟏𝟎 

II. vitNaDk; Ie;J tpdhf;fSf;F tpilasp ( tpdh vz; 12 fl;lha tpdh ) 
 

6. 1 > 2 kw;Wk; 3 Mfpa %yq;fisf; nfhz;L Kg;gb rkd;ghl;il cUthf;Ff. 

7. 2 +  3 𝑖 – I %ykhff; nfhz;l Fiwe;jgl;r gbAld; tpfpjKW nfOf;fSila Xu; 
gy;YWg;Gf;Nfhitr; rkd;ghl;ilf; fhz;f. 

8. 𝑥2 + 2(k+2)x + 9k = 0 vDk; rkd;ghl;bd; %yq;fs; rkk; vdpy; > k kjpg;G fhz;f. 

9. kjpg;G fhz;f 2cos−1  
1

2
 + sin−1  

1

2
  

10. kjpg;G fhz;f tan−1  3 − sec−1 −2  

11. tpfpjKW %yq;fs; cs;sjh vd Muha;f 2𝑥3 − 𝑥2 − 1 = 0     

12. 𝑥2020 + 2019𝑥1680 + 15𝑥16 + 2𝑥10 + 2019 vd;w gy;YWg;Gf;Nfhitr; rkd;ghl;bd; 

%yq;fspd; jd;ikia Muha;f. 

                         gFjp - ,                      𝟓𝑿 𝟑 = 𝟏𝟓 
III. vitNaDk; Ie;J tpdhf;fSf;F tpilasp ( tpdh vz; 19 fl;lha tpdh ) 
 

13. 𝑥3 + 2𝑥2 + 3𝑥 + 4 = 0 vDk; Kg;gb rkd;ghl;bd; %yq;fs; 𝛼, 𝛽, 𝛾 vdpy; 
1

𝛼
 > 

1

𝛽
 kw;Wk; 

1

𝛾
 

Mfpa %yq;fisf; nfhz;L Kg;gb rkd;ghl;il cUthf;Ff. 

14. kjpg;G fhz;f cot−1 1 +  sin−1  −
 3

2
 − sec−1 − 2  

gs;spf;fy;tpj;Jiw – fs;sf;Fwpr;rp khtl;lk;;                                             

Nky;epiy ,uz;lhkhz;L – myFj;Nju;T –2  brk;gu;;; 2021 
fzpjtpay; 

fhyk;: 1.30 kzp                                          kjpg;ngz;fs; : 50 
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15. kjpg;G fhz;f tan  cos−1  
1

2
 − sin−1  −

1

2
   

16. p vd;gJ xU nka;naz; vdpy; > 4𝑥2 + 4𝑝𝑥 + 𝑝 + 2 = 0  vDk; rkd;ghl;bd; %yq;fspd; 

jd;ikia p –d; mbg;gilapy; Muha;f. 

17.  
 3

 5
 –ia xU %ykhfTk; KOf;fis nfOf;fshfTk; nfhz;l xU gy;YWg;Gf;Nfhitr; 

rkd;ghl;ilf; fhz;f.. 

 18. epWTf cot−1(
1

 𝑥2−1
) = sec−1( 𝑥) ,  𝑥 > 1 

19. 𝑓 𝑥 = sin−1( 𝑥 − 1 ) -d; rhu;gfk; fhz;f. 

                       gFjp-<                          4𝑿 𝟓 = 𝟐𝟎 
IV. midj;J tpdhf;fSf;F tpilaspf;fTk;. 

20 . 𝑥2 + p𝓍 +q = 0 kw;Wk; 𝑥2 + p′𝓍 +q′ = 0 Mfpa ,U rkd;ghLfSf;Fk; xU                                

nghJthd %yk; ,Ug;gpd; > mk;%yk; 
𝑝𝑞 ′−𝑝′𝑞

𝑞−𝑞′
 my;yJ 

𝑞−𝑞′

𝑝 ′−𝑝
 MFk; vdf;fhl;Lf. 

(my;yJ) 

          6𝑥4 − 35𝑥3 + 62𝑥2 − 35𝑥 + 6 = 0 vd;w rkd;ghl;ilj; jPu;f;f 

21. 1+2i kw;Wk;  3  Mfpait  𝑥6 − 3𝑥5 − 5𝑥4 + 22𝑥3 − 39𝑥2 − 39𝑥+135 vd;w gy;YWg;Gf; 

Nfhitapd; ,U ér;rpakhf;fpfs; vdpy; midj;J ér;rpakhf;fpfisAk; fz;lwpf.   

(my;yJ) 

   6𝑥4 − 5𝑥3 − 38𝑥2 − 5𝑥 + 6 = 0 vDk; rkd;ghl;bd; xU jPu;T 
1

3
  vdpy; > rkd;ghl;bd; jPu;T 

fhz;f. 

22 .  cos−1  
2+𝑠𝑖𝑛𝑥

3
  – d; rhu;gfk; fhz;f. 

(my;yJ) 

      sin−1(2 − 3𝑥2) - d; rhu;gfk; fhz;f. 

23. 𝑓 𝑥 =  sin−1  
 𝑥 −2

3
 + cos−1  

1− 𝑥 

4
  - d; rhu;gfk; fhz;f.  

(my;yJ) 

       kjpg;G fhz;f : cot−1( 1) + sin−1(−
 3

2
 ) − sec−1(− 2) + csc−1( 1)  
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